ALGEBRA

CHAPTER 10-5
NOTES
SOLVING

QUADRATIC EQUATIONS

BY 

FACTORING

I.   Quadratics can be solved in other ways besides graphing them, or solving for the square roots.

If a quadratic can be factored, then it is the product of two binomials
Zero-Product Property:  Anything multiplied by zero is zero.
In other words, if one of the factors is zero, then the product will be zero 

REMEMBER:  Make sure the equation is set equal to zero to use the Zero-product Property.

II.  Solving by factoring
Solve 
0 = x2 + 5x + 6

Look for the binomial factors:
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Set each binomial factor equal to zero and solve.
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Each answer is a solution to the quadratic.  Check your answers.
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III. Solve by factoring
	0 = x2 + x – 42
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	x2 -8x – 48 = 0
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	2x2 – 5x – 88 = 0
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	12 = x2 – x
Remember that the equation can only be solved when it is equal to zero
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	2x2 + 5x = 3
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	6x2 = -7x - 5
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Since we cannot get the factors for this easily, we will learn another method on another day.


IV.  Application
The length of a rectangular garden is four feet shorter than the width.  The area of the garden is 96 ft2.  What are the length and width of the garden?
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There are two possible answers.  Only +12 is possible.
The length of the garden is 8, and the width is 12
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